IA/IACEF1S0643 2fR iR (R E ST

IA/IAC

WARELSEL

¥ EMC”

© ITERE4H]

RIMKE  FEENX

C: S 1o 25 10 o RH® zE: BEY TA: AWE  BH: 6
A RREH b 50 20 S: M U: FED LB
16 75 30 cM: ERH FA
IA: B =6 ZAW 20 40 sDB
D: WA 5 50 1J
J: WHATAR 75 2
SA: B EHE 100 BJ
SB: BEHWEEAND

BN

HE X

O g
A#&(mm) 8 12 16 | 20 25
HIERRK SzhE
TIENTR 240 p mERTIRNES
THEEH(MPa) 0.1~0.7(83h) / 0.2~0.7(23h) | 01-1.0(8%) /0.2-1.0(23)
FRIEMS E 1 (MPa) 1.5
TIEBE(T) —20~70(F &5 k)
TEEHE (mm/s) £zhE: 30~800 ; £z)E: 50~800
Fi B | EREminE) / TRER(SER)
LR TN
BRI LB FA SDB
BEOE M5 x 0.8 ] G1/8

18 - "WiRfTE - HAER®

- REEX

- REHHE - TRRH

i (UEREPEF AL

TR ARISE, BB ASER, 51225, (71225, FWIAITIE20, MEEA, TREWE, EERXIERR,
HERP#H34: IAC25X25-20-S-CM
FE A MAESEESHMREME, WRKEILIAF % LB/FA/SDB/IJ/YJ/BJ
2.1A8, 10612 KB ER Rl iE
3.IACEFITEEIZ: ® 16, ©20. ®25

© EHEC

3.123

“ www.emc-machinery.com



IA/IACZEFIISO0643 2t R R B S 5T

TR
A& (mm) FRAETTHE(mm) RAITHE(mm)

8 25 50 75 100 125 150 200
10 25 50 75 100 125 150 175 200 200
=57l 12 25 50 75 100 125 150 175 200 225 250 500
16 25 50 75 100 125 150 175 200 225 250 300 350 400 500 500
20~25 25 50 75 100 125 150 175 200 225 250 300 350 400 500 800
8 10 15 20 25 30 40 50 50
10 10 15 20 25 30 40 50 50
B 12 10 15 20 25 30 40 50 50
16 10 15 20 25 30 40 50 60 75 80 100 100
20~25 10 15 20 25 30 40 50 60 75 80 100 125 150 150

MER L1

6 7 8 9101112 18 14 15 16

FS EHER 7 R

1 NRRE (23]

2 TEEN IA8, 10:SUS304EMBIRTEEHE / IA12~IA25:S45CHETE R EE#
3 EEEN:] NBR

4 ANRIEE iR

5 iR SaHE

6 EES A

7 HfE] TR

8 S TPU

9 ORVIR NBR

10 HE IA8. 10: R / IA12~1A25:5R4 &
11 SEETHE NBR

12 sk R

13 TSR IA8, 10: FEEM / IA12~1A25: A& &
14 ifif EE IR PTFE

15 K FIRET B

16 aE Zk

www.emc-machinery.com

3.124



IA/IACZEFIIS0643 2T R R B S 5T

MR E

IA ©8-025
BRE(CAR) T E—
s 81
— M _F |
e 2-X oP1
P 8/10 2PCS 2 L — /AAT
I
1 ap W —— -] -
oA ; N q
~~ L =
Q H | G D
B A2+17H2 c
A3+1T#2
2-X G2 UR 2X G2
N | |
(( N1 T 1
l@J A |
N Cc1 W
l.Cc1_|
BK-ASHTIE BK=AdTEE
B (mm)
FI2\FS | A1|A2|A3|A4|A5|B|C| C1|C2| D E|F| G [GI|[H| ]I |J K L M| P |[P1|Q|R| S
8 64 |46 | 86 | 74 | - |28[12]| 95| 5 | 95 |52| 6 [115]| 7 [12|12]|3| M4X0.7 |M12x1.25| 7| 17 | 4 | 8 |12] 15
10 64 |46 | 86 | 74 | - |28[12][ 95| 5 | 95 52| 6 [115] 7 [12|12]|3[ M4X0.7 |Mi2x1.25[ 7| 17 | 4 | 8 |12] 15
12 75 | 50 [105)| 88 [105(38|17| 10 | 5 | 10 | 5 |9 | 12 | 7 [16|17|5[ M6X1.0 | M16X1.5 [ 6 |19.7| 6 [12]| 16| 18.3
16 82 | 56 [ 111] 94 [ 111[38[17[105]|55]|105(55] 9 [125]| 7 [16]|17]|5[ mex1.0 | Mmiex15 [ 6] 22 [ 6 [12]|16] 20
20 95 | 62 | 126|106 [ 126 |44 [ 20 [14.5| 75| 145|75(12[145]|7.5[20| 20| 6| M8X1.25 | M22x1.5 [ 7| 29 | 8 |[16]|22] 25
25 104 | 65 [ 137 | 115|137 (50 (22| 16 | 8 | 16 | 8 [12| 16 | 8 | 22|22 |6 | M10X1.25 | M22X1.5 | 7 [ 33.5| 8 | 16| 22| 30
RS T T X V| W]|Y
8 7 17 | M5X0.8 | 4 | - -
10 7 17 | M5X0.8 | 4 | - -
12 10 22 | M5%08| 6 | 15 | 5
16 10 22 | M5X0.8| 6 | 15 | 5
20 12 29 1/8" 8 |18 | 6
25 17 29 1/8" | 10 | 20 | 8
E: MRS AM#EEZ RTEE,
IAD ©8-®25 IAJ ®8-025
o -
o | — o i A S
A1+1T72 _ Np—
A+1TEE x 2 B A1+4T38 | Bj ﬁrﬁlfﬂf
= N | B1+1T#2+ AT iA1THE |
A2+1TFEX2+ I A1THE
HEVES | A|A1| A2 | B | B1|J K
8 104 | 48 |1035| 16 |15.5 [ 3| M4x0.7
10 104 | 48 |103.5| 16 |15.5 [3[ M4x0.7
12 128 52 | 128 | 21| 21 [5] MmeX1.0
16 134 | 58 | 134 | 21 | 21 [5] M6X1.0
20 150 | 62 | 151 | 24 | 25 | 6] M8x1.25
25 165[ 65 | 164 [ 28 | 27 [ 6] M10X1.25

i RREZRT5RERER.

3.125

www.emc-machinery.com




IA/IACZEFIISO0643 2t R R B S 5T
1$‘EHHC

5hi2 R~ E

IAC ®16-D25

A1+17%2
F
ZEE(CAR) oP L = 2-X I
R
; L —\ P —
I () I I
o Q” - S5 SO - —-— 4 —
L - - L
D1
s J LVL‘ G2 |.D2_| |®E]
H | G D
B A2+1T#2 Cc
A3+172
CmEY 2.X_ D1 URY 2-X D1
- O\ A | 20T
D2 W .Q.
N c D3
BHK=AB+TEE | BK=A4+1TE
B (mm)
2SS | A1|A2|A3|A4|A5|B|C| D [D1|D2|D3|E[F| G [G1|G2|H]| I |J K L M| P |Q|R
16 82 | 56 | 111 94 | 11138 (17| 12 [ 6 | 9 | 12 (6] 9 |125] 7 | 95 [16]|17[5| M6X1.0 [Mi6xi5| 6| 22 [12]5
20 95 | 62 [ 126 | 106|126 |44 [ 20| 145 75| 11 |145[8[12]145[75] 11 [20]20[ 6| M8x1.25 [ m22x15] 7| 29 [16] 6
25 104 | 65 | 137 115] 13750 [ 22| 16 | 8 [125] 16 [8|12] 16 | 8 [12.5|22[22]| 6| M10X1.25| M22X1.5| 7 [33.5| 16| 8
HEES [ S| T|TH X V| W
16 20| 10| 22 | M5x0.8 | 6 | 15
20 25 12| 29 | /8" 8 | 18
25 30 | 17 | 29 1/8" | 10 | 20

i WHRESTW#EZ RTEE,

IACD ®16-®25 IACJ ®16-025
J e
o ] ¥ — -
B A1+1T#2 B+1T#2 | B1+ATiA1TE |
A+FTEE X 2 B A1+17#8 B1+{Ti+AA{TIE
A2+4TEEX2+ AT 4T 2

HEVES | A |[A1| A2 | B |B1|J K
16 132.5/56.5[132.5| 21| 21 [ 5| M6x1.0
20 150 | 62 | 151 |24 | 25 [ 6| M8X1.25
25 165 ] 65 | 164 [ 28 27 [ 6 | M10X1.25

i RREZRT 5iRERER.

www.emc-machinery.com 3.126



IA/IACZEFIIS0643 2T R R B S 5T

¥ E-MC’

SR E

IASB ®12-025 IASB IASB-S
ZER(CAR)
H A1+17#8

A2+1TH8

A3+1TH2

BR=AG+TIE

BAK=A4+1TE

IASA ®12-025 IASA IASA-S
—H) —HEAY)
EER(CAR)
H A1+{THE x 2
Ny I 1
r——1 W ,,,,,,, m, -
B+17#2 | A2+1T# x 2
A3+{THE x 2
CME!

HEGS A1 A2 A3 A4 A5 B | H
0~50 | 51~100 | 101~150 | 0~50 | 51~100 [ 101~150 | 0~50 | 51~100 | 101~150 | 0~50 | 51~100 | 101~150 | 0~50 [ 51~100 | 101~150
12 100 | - - 75 - - 130 | - - 113 | - - 130 | - - 38|16
16 107 | 132 — 81 | 106 — 136 | 161 - 119 | 144 — 136 | 161 - 38 | 16
20 120 | 145 170 87 | 112 137 | 151 | 176 201 | 131 | 156 181 | 151 | 176 201 | 44 | 20
25 129 | 154 179 90 | 115 140 | 162 | 187 212 | 140 | 165 190 | 162 | 187 212 | 50 | 22
i RiREFEZRT5RERER,
MEEER
FA B
B
ﬁi
E{’ i %1 _BB_
L% o e }J 4-0AP M
1 A:T E# AL AL FF\IV* @l 77777 @
‘ AE ‘ na| P acsm P |aa oy sl |- L i
AA+{TEE 7%|‘7:ﬁ_k ,,,,, J/Ufi‘
HE\FFS |AA|AC|AE|AF | AH | AK |AL|AP |AQ|AT[B|F 5 = c
FJ-IA12LB | 88 | 76 | 42 | 32 [20.5|125| 13| 6 | 6 | 4 |38]|17
FJ-1A16LB | 94 | 82 [ 42 [ 32 [205]125] 13| 6 [ 6 [ 4 [38]17
FJ-IA20LB [114| 98 | 54 | 40 [225] 20 [ 18| 7 | 8 | 4 [44]20
FJ—IA25LB | 117 101] 54 | 40 [225] 20 | 18| 7 | 8 | 4 |50/ 22
SDB i
CB47 D fé‘_
1 ik A\ —
T e e Mee | B | c | BB |BC|BE|BF|F
P L FJIA12FA | 38 | 50 | 4 | 30 | 53 | 40 | 17
-5 -ca. FJIAT6FA | 38 | 56 | 4 30 | 53 | 40 | 17
FJIA20FA | 44 | 62 | 5 | 40 | 66 | 50 | 20
FJIA25FA | 50 | 65 | 5 | 40 | 66 | 50 | 22
MEFE [D| Q@ | CA|CB|CD|CF|CH|CP|CaQ|cCT
FJ-IA12SDB | 13 | 121 | 215 | 91 | 25 | 15 | 27 | 55 | 171 | 25
FJ-IA16SDB | 13 | 121 | 215 | 98 | 25 | 15 | 27 [ 55 | 171 ] 25
FJ-1A20SDB | 16 | 161 | 29 [115] 32 [ 20 [ 30 [ 66 | 241 | 4
FJ_IA25SDB | 16 | 161 | 29 | 126 | 32 | 20 | 30 | 66 | 241 | 4

3.127

www.emc-machinery.com





